REWRITE THESE SITUATIONS INTO A SINGLE SENTENCE USING TOO / ENOUGH THE
ADJECTIVES IN BRACKETS.

*Use the structure too + adjective (+ for sb }+ to do sth
OR
adjective + enough (+for sb) + to do sth
WHEN POSSIBLE.
You need to be eighteen to enter the disco. You're 17 (young)
You're
It's 17 degrees today. The water is rather cold. You can’t go swimming.
The water
| can wear this pullover because my size is M and this pullover is size M too (big)
This pullover
My height is 1.6 and you have to be 1.8 to ride the roller coaster (tall)
I'm
The book costs 5 pounds and | have 5,5 quids (money)
| have
Peter weighs 74kg. The maximum weight to ride the skateboard is 70kg (heavy)
Peter
There are 16 of us in class. There are only 14 chairs to sit down. (enough)
There aren’t
There are 16 of us in class. There are 16 chairs to sit down. (enough)
There are
That house is worth 1 million euros. My parents haven’t got so much money to buy it (cheap)
The house
My cell-phone doesn’t take nice pictures because it isn’t very sophisticated (sophisticated)
My cell-phone

The book that | wrote is 300 pages long. This publisher only accepts books up to 200 pages
long. (short)

The book that | wrote



